dcr/de [ub/GeV]

Ratio to ATLAS

H
o
>

=
o
w

10?

10

[EEY

0.5

7000 GeV p bb
L I e B B L A B IR
E Charged Particle P Spectrum (atlas2011-el)2.0ex) E
" = .
— Ol = _
= O =
— A | —
e R ]
| \ ] ]
I ¢ \\\\ - |
= o B = E
E ’ x\\ | E

g W
— \ TR ]
.. ~ .
= m ATLAS . g =
— --4-- Herwig 7.2.0 default g . —
— 4 Sherpa 2.2.6 default Yo ’ |
E| | | | [ | | | | [ | I | [ | |E
:I T T | T T T T | T T T T | T T T T | I:
B oz S . _
B 8------ B o v * "]
. e & -
1 1 1 " | " 1 1 1 1 | 1 .\Eﬁ‘.‘ 1 T | " 1 1 1 1 | " 1
10 15 20 25

Rivet 3.1.0, = 5.5M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


